514-1J

514-1J
FybhISHY
Fy ISy OvorFv b

OvJr>vy b

R—ILRURITHE
U R—)LRUBILTZ &
MC 1004 BNK1004,BNK1010
MC 1205 | BNK1205
tybE=X

L
t
MC 1408 BNK1408,BNK1510,BNK1520,BNK1616 -
MC 2010 |BNK2010 OyoFoh
|

RARMFELDHRU

MC 2020 BNK2020

#d| D
w _ .
B Bi 4-Sx¢ L 7
W1+ 0.1 4.01 C
Y
HHIE] [ i = gfrmm 3k
30° L‘\«f” F +0.1 23] 5] l - BE é
- K ) HOTE M m D d L t T kg D)
. C <
300 tz{ | RN 4 M4x0.5 M2.6 115 8 5 27 10 0.003 g
~_1|. - % RN 5 M5x0.5 M2.6 135 9 5 27 11 0004 | =%
4-S1Xt © 5] RN 6 M6X0.75 M3 14.5 10 5 2.7 12 0.005 b
RN 8 M8 1 M3 17 13 6.5 4 14 0.008 -
- RN 10 M10X 1 M3 20 15 8 55 16 0.013
Sz mm RN 12 M12x 1 M3 22 17 8 55 19 | 0014
FURE 3"3 W B B %_E c c E K RN 15 M15x 1 M3 25 21 8 45 22 0.017
3 : )
MC 1004 48 24 40 4 32 16 10 20 325 RN 17 M17 %1 M4 30 25 13 9 24 0.042
MC 1205 60 30 47 6.5 36 24 6 21 37 RN 20 M20x 1 M4 35 26 11 7 30 0.048
MC 1408 60 30 50 5 36 20 10 215 37 RN 25 M25% 1.5 M5 43 33 15 10 35 0.096
MC 2010 86 43 70 8 50 30 10 31 54 RN 30 M30x1.5 M6 48 39 20 14 40 0.145
MC 2020 86 43 70 8 40 24 8 28 51 RN 35 M35x1.5 V! 60 46 21 14 50 0.261
FOTE HE RN 40 M40x 1.5 M8 63 51 25 18 50 0.304
T D PCD Sx¢ Si x4 kg
MC 1004 9 26.4 36 M5x10 M4x7 0.24
MC 1205 9 30.4 40 M6 12 M4 %7 0.38
MC 1408 9 34.4 45 M6x 12 M5 X7 0.34
MC 2010 16 46.4 59 M10% 20 M6%10 1.04
MC 2020 16 39.4 59 M10x20 M6x10 0.83

RIS 315-353 TR 315-355



